Directions (1-25) : What should come in 10 24% of 250 - = 18% of 50

place o the queston mark (7)inthe following  (a) $1 )6
questions ? @71 @359
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20, 8153+ 14927~ 6176
(@) 13870 (6) 14960
(©) 16750 (@ 15820
(€) None of these.
(b) 3481
(3969
(€) None of these
22, 74698 + 365 + 85213+ 95
(a) 16028 (6) 160641
(©) 160371 (@) 160362
(&) None of these.
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(6) None of these.
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(2) None of these.
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(¢) None of these:

30. What is the value of twenty-five percent of
two-fifth of 7607

@38 ®76
(©)304 (@256
(&) None of these.

31. Raja scored 84 marks in science, 57 marks in
English. 67 marks in social studics, 81 marks in
Mathematics and 78 marks in, Hindi The
‘maximum marks of each subject is 100, Find
overall % marks of Raja.

@77 () 684
© 734 @74
(¢) None of these.

32. 1 numberis subiracted from 13 the value so

obtained is 88. What is the value of two-third of

(063

©81 @27

(¢) None of these.

3. The dismeter of a circle is 3.5 cm. What s the
circumference of the circle?

) 11em

8.5 cm (@4520m
m N of e

34, What will come is place of both the question

26. The length of s rectangle is 13 cm which s S cm
of
the rectangle?
(@42em (b) 62em
(©21cm @37 em

(@) None of these.
3 men can complete  piece of work in 20 days.
In how many days can 10 men complete the.
same piece of work?

()4 days
(@3 days

(€) None of these

At whatrae will a man get a simple inerest of
21,071 on aprincipal of 2,550 in 3 years?
()14 pepa

(d) 18 pepa

(2) None of these
‘The cost of 6 pens and 3 pencils is T 84. One-
third of the cost ofone pen s equal o the cost of
‘one pencil. Whatis the tota cost of 4 pens and
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© None ofthese
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36. When a square of & number is sublracted fros
(72)* the answer so obtained is 2583, Wht =

the number?
(@) 2601 49
(©2401 @33
(&) None of these.



37. A bag contains eight 25 paise coins, twelve
50 paise coins,fftcen | rupee coins,six 2-rupee
coins and five S-rupee coins. What is the total
amountin the bag’

@256 ®)221
)249 @207

(¢) None of these

44. What is the compound interest accrued on an

@T60 ®T75 amount of ¥ 12,000 at the rate of 9 p.c.p.a. at the
(@)% 12: @365 end of 2 years 7
() Naus ofthess (@) X2775.40 (b) ¥2257.20
38. The respective ratio of lhc present ages of Sita (c) 2545 (d) T2986
and Geeta is 8 : 9. The sum of their ages is 68. {€) None of these.
bl e ST e s R S
second umber What i the respestive o of
e s [T ———
(0 Nons fthse @ B4
3. The average of 4 conseutiv odd numbers A . i
B.C.Dis a4 Whatis theprodictof Aand D3 &) el e detemined
L O 40 Vw5 et
s € inthe Tllowing mmber s
40. The owner of a computer shop charges his 18 18 2o sl !
cusomr 13% more tan the aot pre 2 @ 80 w7
customer paid 15, 933 for a computer, then e
‘what was the cost price of the computer ? (NG
(a) T 14,100 16,500 47.7 21 49 91 147 (D)
(©) 312,700 @z xxzoosmdm,,,g,,m;% (®)236
{¢) None of thesc. )217 @237
41 In a class of 40 students and $ teachers, each = **’ o s oo
Student gt swests that are 15% of h toul 4% G20 412 208 256 230 ()
number ofstudents nd suh echer gotsweess (0217 ®2
that are 20% of the total number of students. (e) 207 (@234
o manysweets were th © Noneofthese
@30 260 45, How muny bags e rquie il 1568 kg
©240 @m0 wheatfeachbug il wih 112 Kgof wheat?
© None ofthese @1
42. 1f an amount of ¥ 85,470 is distributed equally (© 14 @29
amongst the 35 children. How much amount (&) None of these
would achchildge? S0 Sonal st 15% of her marthly slary in
(@32542 )T 2442 insurance policies, she spends $5% of her
(€)1 2452 (@R2552 ‘monthly salary in shopping and on household
© None ofthese cxpenes She saveste remainingamoun of
42 A singlepeson akes § i 0 type page, 12750 What i the Sonalf's iy ncome 3

Iffrom 1.00p.m.02.00 p.m, 1710 pages areto
many persons should be
employed on tis job?

(@) 42,500 (b) 238,500
(©) 240,000 (@ 35,500
(¢) None of these.
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